

#### Class of '73 - Gunn HS 30 Year Reunion

Date:

June 28, 2003 (Sat)

June 29, 2003 (Sun)

Time:

6:00 PM (check-in)

12:00 (noon)

Place: Stanford Faculty Club (Stanford Univ)

Mitchell Park]

Dress: Semi-Formal to Black Tie (optional)

Casual

Who:

Alums and significant others

Same AND kids (and grandkids...)

Cost:

\$50 til June 1st (\$60 after)

BYOS (Bring Your Own Stuff)

(no "At the Door" registration)

RSVP:

By June 20th, 2003 (or sooner)

Ditto

?'s:

Albert Cuisinot (ACuisinot@tsgarch.com) Vicki Purchase (vperkins@post.com 408 817-3264

408 354-7675

Misc:

Dancing to : 'Mark Wilson Band'

Live Alums

Dave Banks to MC

Everyone to MC

No-Host Bar

Sodas supplied

Help:

Photographer

Photographer (bring your digital) Yearbook of event Bring yearbook to event Missing person list

Decorating day of event

Lost & Found from Sat

Web Site: http://pw2.netcom.com/~hanklaw/WEBPAGES/GUNN/gunnhome.htm

#### RSVP Form

Mail to: Hank Lawson 12375 Farr Ranch Rd Saratoga, CA 95070

Payable to: Gunn HS Reunion

Chicken

Sea Bass

Vegetarian

 $1 \times 450 = 260$  (\$60 if after June 1st)

Stanford Faculty Club

P.O. Box 20370 Stanford, CA 94309-0370 (650) 723-9147 fax (650) 725-9984 Invoice No. 62850006

INVOICE -

Cu	stomer	· · · · · · · · · · · · · · · · · · ·			
Name	HANK L	AWSON			
Address					
City			CA	ZIP	
Phone	408/446	9083		***************************************	

6/28/03
50006
MDR
6:00 PM

Qty	Description	Unit Price	TOTAL
1	DEPOSIT FOR 6/28 EVENT IN MDR		\$0.00
	"GUNN HIGH SCHOOL CLASS OF 73 REUNIC	<b>"</b>	
	Thank you! It was our pleasure to serve you.		<b>60.00</b>



1	
SubTotal	\$0.00
20% Service Chg	\$0.00
8.25% Sales Tax	\$0.00
Facility Fee	\$2,000.00
TOTAL	\$2,000.00

	HENRY SPENCER LAWSON CDL N0105528	3665
	12375 FARR RANCH RD (408) 446-9063 SARATOGA, CA 95070  Date 2 1, 200 Z	11-35/1210 972
SSIC®	PAY to the Stanford Faculty Chih \$ 200	000
COLONIAL CLAS	Two Thousand 2 no hoo Dollars	Socurity teatures are included.  Details on back
COK	Bank of America.  Prospect-Highway 85 1660 S De Anza Blvd San Jose CA July 462850006	
	For Emm 30 yr Rennia - Deposit Stamp James	NP

## Policy Page Three

Date of Event: Room:	June 28, 2003 (Sat)
Time of Event:	6:00 PM
Faculty Member Sponsor Name:	
Account Number:	#
Department Name: If Applicable	
Department Account Number:	#
Telephone Number:	# 408 446-9063
Fax Number:	# 408 446-9063 # 408 446-9060
Зу:	Date:

#### ESTIMATED COST OF EVENT BASED ON 50 KIDS AND 150 ADULTS

Winted A by Green on Green and a contract of		
KID'S 2 BASKETS OF CHIPS, SALSA, GUACAMOLE		\$40.00
KID'S SALAD, LEMONADE, BUFFET & DESSERT	\$16.95 X 50	\$847.50
ADULT CHEESE DISPLAY	\$2.95 X 75	\$221.25
ADULT SALMON DISPLAY	\$3.95 X 75	\$296.25
ADULT CRUDITE DISPLAY	\$2.25 X 75	\$168.75
ADULT ASSORTED DIM SUM	\$1.75 X 150	\$262.50
ADULT SALAD, ENTRÉE, DESSERT	\$33.00 X 150	\$4,950.00
ADULT BEVERAGE (TO BE DETERMINED)	\$6.00 X 150	\$900.00
LARGE DANCE FLOOR		\$200.00
SUB TOTAL		\$7,886,25
20% SERVICE CHARGE		\$1,577.25
8.25% SALES TAX		\$780.74
SUB TOTAL		\$10,244. <b>24</b>
FACILITY FEE		\$800,00
ESTIMATED GRAND TOTAL		\$11,044.24

HANK LAWSON 408/460-6785 FAX#-408/446-9060

#### GUNN HIGH SCHOOL CLASS OF 73' DINNER PROPOSAL SATURDAY, JUNE 28, 2003

#### KID'S MENU

HORS D'OEUVRES
2 BASKETS OF CHIPS, SALSA, GUACAMOLE

SALAD CAESAR SALAD

BUFFET

SELF SERVE TACO BAR WITH SPICY BEEF AND SPICY CHICKEN FILLINGS WITH SOFT FLOUR TORTILLAS ACCOMPANIED BY SHREDDED LETTUCE, ONION, SHREDDED CHEESE, DICED TOMATOES, GUACAMOLE AND SALSA

**DESSERT**50 ASSORTED COOKIES

**BEVERAGE** LEMONADE

#### **ADULT MENU**

HORS D'OEUVRES

75 IMPORTED AND DOMESTIC CHEESE DISPLAY WITH IMPORTED CRACKERS AND SLICED BAGUETTES
75 SMOKED SALMON DISPLAY SERVED WITH CAPERS, ONIONS, SIEVED EGG, AND CAVIAR
75 CRUDITE DISPLAY WITH DIP

150 ASSORTED DIM SUM WITH ASIAN DIPPING SAUCE.

WILD BABY GREENS, ENOKI MUSHROOMS, RED & YELLOW PEAR TOMATO, CUCUMBER

AND BALSAMIC VINAIGRETTE

<u>ENTRÉE</u>

SEA BASS WITH TROPICAL FRUIT SALSA
CHEF'S CHOICE OF SEASONAL VEGETABLES
CHEF'S CHOICE OF RICE OR POTATO
ROLLS AND BUTTER
ICED TEA, ICED WATER, REG & DECAF COFFEE

**DESSERT** TIRAMISU

BEVERAGE TO BE DETERMINED

### Stanford Faculty Club

P O. Box 20370 Stanford, CA 94309-0370 (650) 723-9147 fax (650) 725-9984 invoice No. 6281989

INVOICE ==

tomer		
GORDON NEWELL	Event Date	6/28/03
	Member #	1989
CA ZIP	Location	MDR
ALBERT CUISINOT/JANE GEE 329-8041	Guests/Time	116/7:00 PM
1	GORDON NEWELL	GORDON NEWELL  CA ZIP  Event Date  Member #  Location

Qty	Description	Unit Price	TOTAL
23	WENTE CHARDONNAY	\$20.00	\$460.00
15	GALLO CABERNET	\$18.00	\$270.00
65	DOMESTIC BEER	\$3.00	\$195.00
47	WELL LIQUOR DRINKS	\$4.00	\$188.00
16	ASSORTED SOFT DRINKS	\$2.00	\$32.00
30	MINERAL WATERS	\$2.50	\$75.00
50	DOMESTIC/IMPORTED CHEESE DISPLAY	\$3.95	\$197.50
25	SMOKED SALMON DISPLAY	\$3.95	\$98.75
25	CRUDITE DISPLAY	\$2.95	\$73.75
100	ASSORTED DIM SUM	\$2.00	\$200.00
116	DINNERS	\$27.00	\$3,132.00
1	LARGE DANCE FLOOR	\$200.00	\$200.00
1	VENDOR MEAL	\$9.95	\$9.95
	"GUNN HIGH SCHOOL CLASS OF '73' "		
	Thank you! It was our pleasure to serve you.		
		SubTotal	\$5,131.95
	1	20% Service Chg	\$1,026.39

SubTotal \$5,131.95 20% Service Chg \$1,026.39 8.25% Sales Tax \$508.06 Facility Fee \$800.00 PAID 12/11/02 (\$2,000.00)

TOTAL \$5,466.40

PAID JUL 1 4 2003

PLEASE PAY FROM THIS INVOICE & REFERENCE THIS INVOICE NUMBER ON YOUR CHECK

# Shintaikido of Pacifica

Shintaikido – Kajukenbo - Aikido - Tai Chi Shintaikido Meridian Therapy Ki-Works Energy Workshops Sensei Dave Bendigkeit

150 Eureka Square Shopping Center, Pacifica CA 94044

Tel: (650) 355-7661

Fax: (650) 359-5228

E-mail: sensei@shintaikido.com

Websites: www.shintaikido.com www.kiworks.com

May 3, 2003

Gunn Reunion Folks

Dear Hank, et al,

I hope that all is well with you. I remember someone making a donation to help out with the last reunion. I am returning the favor. I won't be able to attend, so please use the money in whatever way that you see fit.

4300 doution

Respectfully,

Dave Bendigkeit

**Subject: Reunion 2008!** 

Date: Tue, 01 Jul 2003 12:53:42 -0500

From: "Robin Snyder" <robinsnyder73@hotmail.com>

To: hanklaw@ix.netcom.com

Dear Hank,

As Paul and I were leaving the picnic, Mike Jurian said we should have a Gunn reunion on his boat, as he is the 'Floating DJ'. I don't like the idea of him working during our party, so perhaps he could MC part of the time, and have a compadre play the music?

South Lake Tahoe is another good idea, and we really should take a poll on it. There is 24 hour entertainment, cheap lodging, and I can check through our five-star resort for banquet facilities, etc. They have dances and wedding receptions there all the time! You really must see this place. I didn't really get a chance to talk to the reunion committee much about my get-away offer, but the offer still stands. You need to see it to believe it. (I'm going to check for a website-they may have one) Off-season there is September-October-early November, so think of those dates for the reunion. (No tourists, less crowding, GREAT weather, and lower rates on \*everything\*.)

If we had the reunion there, and people were staying at Harvey's, Harrah's or the Horizon, there is a free shuttle that could take them back to their hotels. (no DUI's!) If they want to continue partying, as some wanted to do on Saturday night, the casinos are open 24-7, as are the restaurants. Licensed and bonded childcare is available at my resort, as well as most of the hotels. In addition, there are many daytime activities not involving casinos for those who don't gamble. (horsebackriding, boating, hiking, golf, etc.-or depending on the time of year, winter sports) My resort has an outdoor pool and jacuzzi in addition to the whirlpool spas in each suite, and a tennis court - on the roof!

I know I live kind of far away from the Bay Area, but I remember being on the 'official' committee for the first two reunions, and I'd really like to play a more active role in the planning of the next reunion. While locating 'lost sheep' is a valuable service, if we do decide Tahoe is the place to go, and our resort is the location to party, I'll be making most of the arrangements. (been an owner there since 91, and I can keep the costs down-I know folks in Management!)

Catch your breath from this last weekend, I'll keep my membership in Classmates.com current. Plan on joining Paul and I in Tahoe for a weekend - probably sometime this fall. I'll arrange for us to have a suite that connects and sleeps 8, or two suites that sleep 4, (the smallest suite) so you and Marcia have a suite all to yourselves. When I have Mom all settled in her new apartment, we'll show you this place, and you'll love it!

Thanks for all your work on the reunion!

Robin & Paul

p.s. hate to be a grouch, but the first 21 jpegs on that cd were blank...

also, could you send me all of the reunion committee's email address's so I can send them Tahoe invites? Same for Mike Jurian. Thanks!

Protect your PC - get McAfee.com VirusScan Online http://clinic.mcafee.com/clinic/ibuy/campaign.asp?cid=3963



14835 Stagecoach Sisters, Oregon 97759 Phone & Fax 541-549-6171 Toll Free Orders 877-549-6171 www.nononsenseguides.com A quick, clear understanding.

3/24/03

#### Dear Hank:

Way to go! Thank you very, very much for keeping the class of 73 reunion string of victories reunion events unbroken and glorious.

I am RSVP-ing that I will be there with bells on, June 28th. Note I've purchased two dinners. I am planning on coming solo (w/o family). My extra dinner is insurance in case one of my pals forgets or we need more food, etc.

I've checked your fine work on the web site and was amazed at all that is out there! Thank you.

I also appreciate all the hard work this involves and want to thenk you, the first of many I'll pat on your back, for the committee work, time money and plain old b.s. you all have done to keep this rolling. Thank you thank you!

I will also take complete, unqualified and extravagant responsibility and credit for our class reunions. Low, those many years ago I mentioned to Jane Alhouse (Gee) that, "Jeez, we haven't seen anyone for awhile. We ought to get everyone together. Lets have a reunion. I know, how about a Gunn H.S. Class of 73 reunion?"

This was in the late- spring of 1973. I'm not kidding! I loved our Gunn years and was sad to graduate and mentioned this to Jane.

Obviously, I talked to the right person and, later we formed a committee. The Holiday Inn P.A. was the site of a pretty wild night, as I recall, for our 5-year get-together.

Now, thanks to you and so many more, we have a tradition of reunions that acknowledge our days of rebelling against tradition. We do this in a most traditional way, a reunion. Wow.

As you can tell, I LOVE our reunions. I am not exaggerating. They are some of the finest things I do and enjoy. Thank you, thank you, and thank you, for keeping our reunions alive and on schedule.

Regarding June 28th - 29th: I've a tentative OK from Mark Hearn, Kerry Hodge (Thede) Bill Schumacher, Tim McDonnell and will soon connect with Tim Anderson. Brooke Bullmore (don't know her maiden name right now) is an Oregonian, so I should be able to get word to her via Bill S. or carrier pigeon.

Let me know if I can help out in any way, though I'm a bit long distant. I did read that I am the MC. I'd be honored and if there is anything structured let me know. If not I will create a "presentation" and certainly draw attention to your fine efforts.

Oh, by the way, here's an advance of the stock answer I have (we all have one like this) in preparation for the reunion:

"Live in Oregon. Married, two kids, 4 and 2 years old. We know who the father is. Feel very old to have such young kids. Publish fly fishing guidebooks. Haven't seen Tim Ferrell or Bob Bow since '74- '76. Was intimately involved in the senior prank of stealing the kiosk and turning it upside-down. Can name names on this. Yes, I did climb the flag pole and place a tire around it. Still haven't told my Mom the half of all we did."

OK, your turn.

I did note you still hold a Gunn H.S. track record! You are a fleet one.

Finally,

Thank you, thank you, thank you,

David Banks 541-549-6171 david@nononsenseguides.com

P.S. Thank you.

Dear Hunk, June 30 I just wanted to express my appreciation for all the Land work I know you gut in to make this part weekends reusion a whopping Lucies I know how much effort it is to put together such an event ( wents with the prenie), and I also know how many people think they're done by magic. Shork you to someh. I had a great time, and book fruind to 35! Jamwel Eldni